BIC
10°

log[ Relative Probability ] .

Window Half—Width (km/s)

107

10°

—1000 0

2000

100 1000 10*

10

rm868 x>/ (412539—5078)=5.506
e e B I e
g BIC 2308956.75 ABIC 0.000 AlogP 0.0000 }
i X% 2243297.75 Ax* 0.000 AlogP 0.0000 -
T —
i 5078 ]
A
L L L L 1 L L L L 1 L L L L 1 L L L L 1 L L L L 1 L L L L 1
5 10 15 20 25 30
30 iterations
rm868 X%/ (412539-5078)=5.506
—

BIC 2308956.75 ABIC 0.000 AlogP 0.0000 ]
X% 2243297.75 Ax% 0.000 AlogP 0.0000 _

5 10 15 20 25 30
30 iterations

Fe2 9% 0+0 km/s

rm868 BLR 3000 NLR 900 km/s
Fr—+ 1 T * T T [ * * * T T T  * T~ T T T T T T T T T T T3]
I 5078 ]
L A |

L L L L | L L L L | L L L L | L L L L | L L L L | L L L L |

5 10 15 20 25 30

30 iterations

kdh1 15-0ct-2021 22:20

B)I(g

BLR

NLR



